
ANGLICKÝ JAZYK IX.A 
Řešení za období od 1.6. do 5.6. 

 

 

 

Conditional clauses 

 Fill in the gaps with the verbs in the correct tense. 
1 had, wouldn’t get 

2 would have called, had known 

3 exercised, would be 

4 had studied, would have got 

5 wouldn’t have yelled, hadn’t done 

6 get, won’t be 

 

 

Student’s Book 

 str.52, cv.1 

A renewable energy 

B cloning 

C global warming 

D genetic engineering 

E artificial intelligence 

 

 Follow the arrows and make sentences as in the example. 

2 … they will grow bigger and faster. 

3 … plants bigger and faster, we will have more food. 

4 … we have more food, we can stop famine in poor countries. 

 

Workbook 

 str.37, cv.1 

1 a A, 2 d B, 3 e C, 4 c D, 5 b E 
 



 str.37, cv.2 

1 intelligent machines 

2 wind 

3 diseases 

4 genes 

5 famine 

6 polar ice caps 

7 save 

8 robots 

9 clone 

10 atmosphere 

 

 

HODNOCENÝ ÚKOL  

         
        1 local 
        2 equal 
        3 digital 
        4 old-fashioned 
        5 renewable 
        6 global 
        7 genetic 
        8 artificial 
        9 endangered 
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